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Part-A 10 x 1 = 10

To reach out the benefits of IT to the common man we need

(a) Two technology  (b) Three technology  (c) Three technical element  (d) Two technical element

The technical element or elements we need to reach out the benefits of IT to the common man is

(a) connectivity  (b) so�ware  (c) hardware  (d) both (a) and (b)

What will be the 85% usage of computer?

(a) Word processing  (b) Power point  (c) Spreadsheet  (d) Database

Interactive table cloth keeps the food

(a) Cool  (b) Su�iciently warm  (c) Packed  (d) Hot

"India lives in her seven hundread thousand villages" Who said this?

(a) Abdul Kalam  (b) Gandhi  (c) Rajaji  (d) Nehru

Expand IT?

(a) Internet technology  (b) Internet services  (c) Information technology  (d) Internet time

Which enables us to withdraw money from our accounts in a particular bank anytime and anywhere.

(a) Archives  (b) Picture phone and pad  (c) Dining room  (d) ATM

Which of the following will enable the common man to put computers to a better use?

(a) Entertainment  (b) Quality Application  (c) Quality Hardware  (d) Quality IT Education

What are mounted on the wall to provide better e�ect and save floor space.

(a) Camara  (b) Speakers  (c) LCD screen  (d) All the items

The technical elements need for IT to reach the common man are

(a) A�ordable computers  (b) Connectivity  (c) So�ware  (d) All the above

Part-B 5 x 2 = 10

What is e-Banking?

What is ATM?

What is e-learning?

Write a brief note on e-shopping.

How are the computers used in the educational area?
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